
Wide Ass kit Super Ass kit
ZPN 722080 ZPN 722077

Pos Part no Qty Part no. Qty Description 
1 236497 1 236498 1 Inner spacer ring
2 239900 2 239900 2 Needle bearing maindrive gear
3 346211 1 346210 1 Extended shaft extension
4 346215 1 346214 1 Extended crankshaft nut
5 700365 1 700365 1 Primary gasket set
6 700836 1 700837 1 Extended Mainshaft
7 700838 1 700839 1 Extended main drive gear
8 700870 1 700880 1 Spacer, Top (bend)
9 700871 1 700881 1 Spacer, long for use on Softail models

10 700896 3 700897 3 Spacer for use on Dyna models
11 700872 1 700882 1 Spacer, short
12 700873 1 700883 1 Sprocket spacer
13 700874 1 700884 1 Clutch pushrod
14 - - 700886 1 Starter Coupler for 25 mm kit
14 700876 1 - - Starter jackshaft spacer for 12 mm kit
15 700888 1 700887 1 Inner spacer jackshaft 
16 700875 1 700885 1 Starter motor bolt
17 700877 1 700877 1 Primary spacer dowel pin 5/16"
18 940050 6 940050 6 Inner primary lock tab
19 238986 1 238987 1 Swing arm
20 238845 1 238856 1 Wheel axle
- 638191 1 638191 1 91-99 Main Drive Gear Seal
- 700011 1 700011 1 O-ring chain housing
- 700295 1 700295 1 Trans.top cover gasket 5-speed
- 700314 1 700314 1 Gasket trapdoor 5 speed 79-up
- 700320 1 700320 1 Clutch release cover gasket
- - 4 - 4 Hex Bolt 5/16-18 x 2 1/2"
- - 3 - - Hex bolt 5/16-18 x 3 1/4"
- - 4 - - Hex bolt 5/16-18 x 2"
- - - - 4 Hex bolt 5/16-18 x 3"
- - 3 - 3 Ring Flat 5/16"x 5/8"x 15g



20-02-2003WWW.ZODIAC.NL

PERFORMANCE PRODUCTS FOR HARLEY-DAVIDSON®

WIDE SWING ARM KITS 
FOR TWIN CAM SOFTAILS

722080 Wide swing arm kit for Twin Cam Softail
722077 Extra wide swing arm kit for Twin Cam Softail

BACK VIEW


